 



Passat (B4) and Jetta (A3)  Exhaust Resonance Fix:

’96 and ’97 Passat TDIs and ’97-’99 Jetta TDIs (to a lesser extent) develop an exhaust hum or resonance at about 2400 RPM.  It starts out low and increases in volume over time.  There is a flex joint built into the down pipe before the converter that slowly gets stiffened by soot buildup so the normal engine resonance gets amplified by the exhaust system. 

To fix the problem a second flex pipe can be installed after the converter as follows:

1. Remove the slip coupling between the converter and the straight pipe.

2. With the coupling removed, move the converter back and forth, up and down and all around to try to loosen the buildup.  Be aware that an old flex pipe could crack doing this so don’t go nuts. Start the engine after this, if desired, to blow out the soot.

3. Cut about 6" off the straight pipe after the converter, enough to fit the 8"/12" version flex coupler. It's made by EPI and can be ordered from JCWhitney (Stk.No. 47KS1756A).  Install the supplied clamps with the ends pointing down (one will be used for a hanger).  The fit is a little loose so the clamps have to be tight.  You could stop here but a hanger will keep the flex pipe from sagging and probably extend its life.

4. Make a hanger to support the rear of the flex pipe:  Drill two 3/8 holes in one side of a 6” piece of 1” angle iron to match the spacing of the muffler hanger rubber inserts.  Drill 2 more in the other side to match the u-bolt spacing.  Cut the heads off of two 3/8”x3” bolts and fasten them to the first holes using 2 nuts each.  These bolts will fit into the rubber inserts of the hanger. Fasten the angle to the ends of the u-bolt with the bolts pointing forward.  Put the hanger on the bolts.  The hanger will be about 1” below the floor pan so spacers will be needed to screw it to the floor pan next to the exhaust channel.  Washers and 5/16” lag bolts are used in the pictures.  A more secure method may be to screw a 4” piece of U or square stock to the floor pan with 4 or 5 screws and then bolt the hanger to that.  The A3 hanger, being wider, would give other mounting options.

Parts and Supplies:

Flex Pipe-  EPI UF8200  sold by JCWhitney #47UT1756A    $26.95

Exhaust Hanger- VW #1J0253144H (from A4,A3 hanger can also be used) ,  $12.65 at the dealer.

Angle Bracket-  steel or aluminum, approx. 1” x 6”long

Two 3/8” x 3” bolts

Four 3/8” nuts

Misc. spacers and screws depending on spacing method

Link to forum discussion w/pictures:
http://forums.tdiclub.com/NonCGI/ultimatebb.php?ubb=get_topic;f=17;t=003215;p=1

